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5. (a) ’

(b) y=az?+bz+c
(0,0) =>0=ax024+bx0+c=>c=0 -
(4,0)=>0=16a+4b+0=>16a+4b=0 (1)

(2,8) = 8 =4a-+2b+0 = 4a +2b =8 2)

() Solve (1) and (2) simultaneously: 16a-+4b=0 (1) 4a+26=8 (2)
From (2) = 2b = 8 — 4a = b = 4 — 2q, substitute into (1) = 16a +4(4~2a) = 0 = 16a 416 — 8a =
0=>8a+16=0=>8a=—16'=)>a,=——2a,ndsubstituteinto(2)=>4><—2+2b=8=>-—-8+2b=
8=20=16=b=8.

Hence the equation is y = —2z2 + 8z.

(d) y=—4z+c. Now (4.5,0) is on the line, 50 0 = ~4 x 4.5+ c=> ¢ = 18 and y = —4x + 18.
(e) y=—4z+18 (1) and y=-222+8z (2)

We solve (1) and (2) simultaneously by equating y-values, so

~4z +18 =224+ 8z = 222 + 12z~ 18 = 0 =

—12+£ V144 —4x-2x =18 -12++0 _
: -4 T -4

When z = 3, y = —4 x 34 18 = 6 => point is (3,6).
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